



Vendor Ranking

Page 1 of 1

Letting: 05231003 October 03, 2023 2:00 PM **Call Order:** 006 **Contract:** E54C0

District: District 5 Counties: DIST/ST-WIDE, ORANGE Fed Aid No: N/A

Contract Time: 160 CALENDAR DAYS

Project(s): 42914217216 (*)

Contract Desc: Asphalt Milling and Resurfacing

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Winning bid	\$899,707.07	100.00%
2	MIDDLESEX PAVING, LLC	Responsive	Non-Winning Bid	\$1,485,046.00	165.06%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 5

Letting: 05231003

October 03, 2023

Call Order: 006

Contract: E54C0

District: District 5

Counties:

Fed Aid No: N/A

Contract Time: 160 CALENDAR DAYS

ORANGE

DIST/ST-WIDE,

Project(s): 42914217216 (*)

Contract Descr: Asphalt Milling and Resurfacing

FDOT District 5

Proposal ID No.: E54C0

Financial Project No.: 429142-1-72-16

Fiscal Year: 2024 County: Orange

Contract Calendar Days: 160 Lead Time: 14 Calendar Days

This is a Maintenance Pay Item Project.

Intent & Scope:

The work under this Contract consists of asphalt milling and resurfacing, replacement of traffic loops, painted pavement markings, preformed thermoplastic pavement markings, and reflective pavement markers on various Department maintained roadways in Orange County.

Experience:

For this Contract, the Contractor is required to have at least three (3) years of experience in the performance of Asphalt Paving, or the Project Superintendent must have at least three (3) years of like experience as a Superintendent. A Contractor that presently has a certificate of prequalification with the Department in "Hot Plant Mix Bituminous Course" will suffice to meet the above requirements.

Line No / Item ID Alteri	Quantity	Units INFRASTRUCTURE		(2) MIDDLESEX PAVING, LLC			
() indicates item is bid as Lump Si		PARTNER Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(ASPHALT RE	PAIR (MECHANICA	AL) (TN				
0005 0101 1 MOBILIZATION	(1.000) LS	90,459.20000	90,459.20	50,000.00000	50,000.00		
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	30,961.45000	30,961.45	121,000.00000	121,000.00		





Tabulation of Bids

Page 2 of 5

Letting:	05231003	October 03, 20	23 Cal	l Order: 006		Contract:	E54C0	
Line No		Quantity Units	(1) TUI INFRASTR	UCTURE	(2) MIDDLESEX	PAVING, LLC		
() indicate	es item is bid as Lump Sum		PARTNEI Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SI	ECTION: 0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
TEMPORAR	02104 RY SIGNALIZATION AND NCE, INTERSECTION	56.000 ED	130.00000	7,280.00	1,500.00000	84,000.00		
TEMPORAR	02107 1 RY TRAFFIC DETECTION ENANCE, INTERSECTION		130.00000	7,280.00	1,500.00000	84,000.00		
MILLING EX	27 70 6 (ISTING ASPHALT , 1 1/2" AVG DEPTH	30,564.350 SY	2.54000	77,633.45	10.00000	305,643.50		
ASPHALT C	37 783 CONCRETE FRICTION RAFFIC C, FC-12.5, PG 7	2,521.560 TN 6-22	245.17000	618,210.87	300.00000	756,468.00		
	60 2102 EMBLY, F&I, TYPE B	14.000 AS	975.00000	13,650.00	1,200.00000	16,800.00		
	60 2106 EMBLY, F&I, TYPE F	7.000 AS	1,105.00000	7,735.00	1,500.00000	10,500.00		
TRAFFIC MINTRUSIVE	95 2 1 ONITORING SITE NON- VEHICLE SENSOR- NOI JRNISH & INSTALL	3.000 EA N-	1,300.00000	3,900.00	2,500.00000	7,500.00		
TRAFFIC M	95 6 12 ONITORING SITE LOOP ASSEMBLY, FUR 2 LOOPS	3.000 EA NISH	2,340.00000	7,020.00	2,500.00000	7,500.00		





Tabulation of Bids

Page 3 of 5

Letting:	052	231003	October 03, 202	23 Call	Order: 006		Contract:	E54C0	
	o / Item ID escription	Alternate	Quantity Units	(1) TUR INFRASTRU	JCTURE	(2) MIDDLESEX	PAVING, LLC		
() indica	ates item is bid	as Lump Sum		PARTNER Unit Price	S. LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
:	SECTION:	0001	(ASPHALT REF	PAIR (MECHANICA	L) (TN				
	710 11101		1.810	1,300.00000	2,353.00	5,000.00000	9,050.00		
	PAVEMENT RD, WHITE, S		GM						
	710 11102		0.110	6,500.00000	715.00	4,000.00000	440.00		
STANDAR	PAVEMENT RD, WHITE, SO ANGE AND U	OLID FOR	GM D, 8"						
0065 0	710 11123		1,331.000	6.50000	8,651.50	2.50000	3,327.50		
STANDAR	PAVEMENT RD, WHITE, SO ALK AND RO	OLID FOR	LF 12"						
0070 0	710 11124		39.000	26.00000	1,014.00	10.00000	390.00		
STANDAR	PAVEMENT RD, WHITE, SO LL OR CHEVR	OLID FOR	LF						
0075 0	710 11125		327.000	26.00000	8,502.00	12.00000	3,924.00		
STANDAR	PAVEMENT RD, WHITE, SO CROSSWALK	OLID FOR \$1	ГОР						
0080 0	710 11131		2.180	1,300.00000	2,834.00	4,000.00000	8,720.00		
	PAVEMENT RD, WHITE, SI VIDE	,	GM PR 3-9						
	710 11141		0.300	2,600.00000	780.00	4,000.00000	1,200.00		
STANDAR	PAVEMENT RD, WHITE, 2- NE/ 6-10 DOTT	4 DOTTED	GM ION,						



10/12/2023

Tabulation of Bids

Page 4 of 5

Letting:	05231003	October 03, 202	23 Cal	l Order: 006		Contract:	E54C0	
Line No / Item ID Item Description	Alternate	e Quantity Units	(1) TURTLE INFRASTRUCTURE		(2) MIDDLESEX PAVING, LLC			
() indicates item is bid as Lump Sun		• · · · · · ·	PARTNEF Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	(ASPHALT REF	PAIR (MECHANICA	AL) (TN				
0090 0710 11160 PAINTED PAVEMEN STANDARD, WHITE, SYMBOL	T MARKINGS,	8.000 EA	65.00000	520.00	10.00000	80.00		
0095 0710 11170 PAINTED PAVEMEN STANDARD, WHITE	T MARKINGS,	23.000 EA	65.00000	1,495.00	125.00000	2,875.00		
0100 0710 11201 PAINTED PAVEMEN STANDARD, YELLO	T MARKINGS,	1.040 GM	1,300.00000	1,352.00	5,000.00000	5,200.00		
0105 0710 11224 PAINTED PAVEMEN STANDARD, YELLO' DIAGONAL OR CHE	T MARKINGS, W, SOLID FOR	246.000 LF	19.50000	4,797.00	6.00000	1,476.00		
0110 0710 11241 PAINTED PAVEMEN STANDARD, YELLO' GUIDELINE/6-10 DO 6"	T MARKINGS, W, 2-4 DOTTEI		2,600.00000	598.00	4,000.00000	920.00		
0115 E706 1 42 REFLECTIVE PAVEN MARKER(REMOVE A REPLACE)(CLASS E	AND	504.000 EA	3.90000	1,965.60	8.00000	4,032.00		
	ALT REPAIR S ANICAL) (TN)	Section Totals:		\$899,707.07		\$1,485,046.00		



10/12/2023

Tabulation of Bids

Page 5 of 5

Letting: 05231003 October 03, 2023

Call Order: 006

Contract:

E54C0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.